Multiplication de Doubles (A)

8 X 8=

12 x 12 =

4 x4 =

15 x 15 =

2 X 2=

1 x 1=

6 X 6=

11 x 11 =

3 X 3=

10 x 10 =

9x9=

13 x 13 =

TX 7=

14 x 14 =

DX H=

Trouvez chaque produit.
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12 X 12 =

TX T =

HXH=

2 X 2=

11 x 11 =

15 x 15 =

14 x 14 =

3 X 3=

4 x4 =

13 x 13 =

8 X 8=

6 X 6=

10 x 10 =

1 x 1=

9x9=



Multiplication de Doubles (A) Réponses

Trouvez chaque produit.

8x8&=__ 064 12x12=_144
12x12=_144 TxT7T=_49
4x4=__16 S5Xb=_20
15 x 15 =__ 225 2x2=__4
2x2=__4 11x11=_121
Ix1l=__1 15 x 1b=__225
6x6=__36 14 x14=_196
11x11=_121 Ix3=__9
3x3=__9 4x4=__16
10 x 10 = __100 13x13=_169
9x9=_ &1 X 8= __ 064
13 x13=_169 6x6=__36
Tx7T=_49 10 x 10 =_100
14x14=_196 Ix1=__1
bXxb=__25 9x9=__ &1
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